Names:

Question 1, Solution 1.

Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 1, Solution 2.
Completely Correct (circle one): Yes No
If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 2a, Solution 1.
Completely Correct (circle one): Yes No
If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?



Question 2a, Solution 2.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 2b, Solution 1.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 2b, Solution 2.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?



Question 2¢, Solution 1.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 2¢, Solution 2.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 2e, Solution 1.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?



Question 2e, Solution 2.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 5, Solution 1.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?

Question 5, Solution 2.
Completely Correct (circle one): Yes No

If not, type of error (circle one): Conceptual Arithmetic Partially Incorrect/Irrelevant Work

How could the solution be better?



